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akeresés

perem <- {uj-csucs(kezdéallapot)}
if perem.lires() return failure
csucs <- perem.elsékivesz()

if csucs.célallapot() return csucs
perem.beszur(csucs.kiterjeszt())
goto 2

rafkeresés

perem <- {Uj-csucs(kezdéallapot)}

zart <- {}

if perem.lires() return failure

csucs <- perem.elsékivesz()

if csucs.célallapot() return csucs
zart.hozzdad(csucs)
perem.besziur(csucs.kiterjeszt() - zart)
goto 3

fakeresés

perem <- {Uj-csucs(kezddéallapot)}
if perem.lires() return failure
csucs <- perem.elsékivesz()

if csucs.célallapot() return csucs
perem.beszur(csucs.kiterjeszt())
goto 2

rafkeresés

perem <- {uj-csucs(kezdéallapot)}

zart <- {}

if perem.lires() return failure

csucs <- perem.elsékivesz()

if csucs.célallapot() return csucs
zart.hozzaad(csucs)
perem.beszur(csucs.kiterjeszt() - zart)
goto 3

fakeresés

perem <- {uj-csucs(kezdéallapot)}
if perem.lires() return failure
csucs <- perem.elsékivesz()

if csucs.célallapot() return csucs
perem.beszur(csucs.kiterjeszt())
goto 2

rafkeresés

perem <- {Uj-csucs(kezdéallapot)}

zart <- {}

if perem.lires() return failure

csucs <- perem.elsékivesz()

if csucs.célallapot() return csucs
zart.hozzdad(csucs)
perem.beszur(csucs.kiterjeszt() - zart)
goto 3



